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In the given figure
[£2 = 41] and £3 = Z4. The value of 6 equals to
fqu M fom ®, L2 = /1 9 £3 = 24 WO F A KK &

(ao+ x+j§ = (%4}
7

MOO (2) 60° (3) 45° (4) 40°
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0
TRIANGLE What is a triangle? LA +LA+Leg
|§| ﬂa In Geometry, a triangle is a three-sided polygon that consists of three
edges and three vertices. SATHIA H, Teh BIYS) Toh 9-9&fTd SgWST Bidl
2 form i formmt o offe 3fiY e ©

Sum of all exterior angles of a triangle is 360o.

Sum of all interior angles of a triangle is 1809.
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Note : f&&t +ff triangle &1 sides &l 3T opposite
angles o small letter o form H for@n Sar 2

~[BC=q] /\
E‘QJ/ \

)P
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h The exterior angles obtained on producing the base
BC of a triangle ABC in_both ways are 120° and

105°, then the vertice @- the triangle is of

measure

U fI9st ABC & 38R BC &l M1 3R sgH W 34 W

T 9TEd v HE: 120° 941 105° 81 &R, s &

i 0T LA T HY fohaA1 B2

(1) 36° (2) 40° (3) 45° (4) 55°

4 00 — (6] = (83 135')

G

Vv
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In A ABC, [ZA + /B = 65, [¢B + ZC = 140}, then

% AABC H§, /A + /B =65°. /B + ~/C = 140° T,
dl 399 /B F1d &ifau|
(1) 40° \)2‘@5“‘ (3) 35° (4) 20°

0
4 } LB+ Lc=|8%0
Pl — U +LCH LB= Zo5'

|

0 -

[0 Yes—|yo
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InNnaAABC.if2 7A=3 7B =6 2C, valueof #Bis

A ABC
Iz - 3/B=6,C% a9 /B 91 &—
60° (2) 30° (3) 45° (4) 90°
SN
34~ 498 (¢
@ A: B¢ =t %
3) (2):\1
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1
In a triangle ABC, ZA + 7 4B + ZC = 140°, then

2
/Bis v —
. 1
Th ﬁrﬂa ABC ﬁ]léAJr—éBJréC):QéLOO)Fﬁ /B
)
(1) 50° (2) 80° (3)]40° (4) 60°

@%CWKLCW QA+ Llé +(2L¢
@uo T ww a

co-iw 199 =
o LA+ALe = £
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If in A ABC, ZABC =5 ZACB and ZBAC =3
/ACB, then ZABC = ?
afe AABCH®, /ABC =5 ZACB 3R /BAC = 3 Z/ACB

2 @ ZABC = ?
(1) 130° (2) 80° (3) 100°  (4) 120°
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There are 3 points A. O, B on a line-segment and
C is the point not on line AOB. If ZAOC = 40°
and OX, OY are interior and exterior bisector of
ZAOC, then what will be ZBOY ?

Tk W-Ee § 41 fag A,0.B ® R C TH M
fog 2, Sl AOB W & 2 deT9R, afs ZLAOC=40° &l
3R OX, OY, ZAOC & Hu9l: Al W& el fgurss
g, 9L «BOY f&a g ? v

\mo e (2)80° )72°  (4) 68°
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Types of Triangle :

(i) On the basis of sides / 9ISl & 3R UT

Equilateral Triangle / ¥Hag Y«

/AB=BE'=C%)'€IT

A= LB=le=er

a=bic}
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c (s =LC)
AB = BC c=a

LA =/cC

/-8 =B
LA =LC
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Scalene Triangle / faureTg I

(%ééééﬂa a+b=c

Q@ £ bZcC

(]ﬁ Z 18 £ A
C
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On the basis of angle / hIUT & 3TN WX

(a) Acute Angled Triangle / <IFehIUT 1y :

AABCH, /A <90° B <90° ~C < 90°¢
A
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Right Angled Triangle / THehI0T TS :

T2l AABC ®, / B = 90°

oy
@
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Obtuse Angled Triangle / 3Tf&fehaniur st

90° < £ B < 180°
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Nature of Triangle / IS &t Uahfd

If C is the longest side then- =fq C wa® Tt Y11 & q1-

> a?+b?> ¢ (Acute angled Triangle) a?+b?> ¢ WRIEILAESE)
» a’+ b*=c? (Right angled Triangle) (‘-FITIT:Iﬁ'UT |1:'3|'ﬂ-ﬁ)

» a’?+ b?<c? (Obtuse Angled Triangle) (3TFereR <hTuT Frega)




Among the following which group represents sides of an acute angled triangle

FefeTiRaa 7 & 9 |7 9Hg TF =9 07 st iy gt st gia i st

[2




)
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Condition For Formation Of Triangle %I‘ﬂ?[ o fomior o foru 3

»The sum of any two side of triangle is always greater
than from the third side.vst s fohegl a1 M T AT A

et =T 9 ST /AT ©
/ \'o

/GL

L
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Condition For Formation Of Triangle %I‘ﬂ?[ o fomior o foru 3

he difference of any two side of triangle_is always Less
than from the Third side. gt &t for=gl qr gTeTl T 3R

FUIN A6 T A FH BT R (L +92Q —@
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Condition For Formation Of Triangle %ﬁﬁ o fomior o foru 3

> (a+b)>mﬂm>(a~b)
V rﬁ-«M lwo Qud£< (de </Qw4 hwo Sldgl
r \\
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If sides of a triangle are 6, 7, a,where a is an integer then

(afs foret Breger Y qTd 6, 7, a ¥, Set a U uuiies § av)
1. Find maximum value of a will be:(a =1 stférean wm 7 hifsa:)
2. Find minimum value of a (a st =7a® A FTq HI<T0)

3. Find_how many triangle can be formed
(T IR foF fohae Brae a7 wena ) E ,amau(’-'ﬁj




/ Exterlor Angle Property sIT&dl T N

(Ll =14

(A =Ut t8
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The angle between internal bisector of one base angle and the external
bisector of the other base angle of a triangle is equal to one half of the
vertical angle. Teh TS o Tk ATUR RV o (AN [GWTh 3ﬁ'{§\'{:|>{
SATYUTR HIUT o ST THIGHTSTR o Sl ST ShIUT FHEATER 10T F AT oF TR
BT 2l 4 D

.3
5

| BDC ——L_”rJ
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In the given figure AP is the angle bisector of ZBAC and AT
is perpendicular to BC then & T8 34@% T AP ,Z BAC &

IV THEHTST & 3T AT, BC Woidad @ df

£PAT=(| 2B - 2c|)n2
A (H\(’

- 1;]%

B T P C




Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM




Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM




Up Lekhpal /Up Constable Daily Live Maths Classes At 01:00 PM

Internal bisectors of /B and ZC of AABC inter-

sect at O. If ZBOC = 102°, then the value of ZBAC
is

AABC H /B @ ~C & 37de fgusieh O | TH-TH =l
H1ed B &R, 9k ~BOC = 102° &, @ ~/BAC fha
B2

(1) 12° (2) 24° (3) 48° (4) 60°
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If I is the incentre of a AABC and pA = 60°, then
PBIC will be—

gf 1, T IS ABC &1 37d: %5 8 3R DA = 60° g,
dl pBIC foan grm?
(1) 100° (2) 120° (3) 150° (4) 110°




